KEERER—5E (FR23EE) [4/487%])

(SN N | FEEIMBESSEEHR EREEH
ER A L% || &5 |FER4A L% | B | a5 |FER4A % | BE% | &5t
AKX 1 1| |F#FEK 6| 2| 8| |[EEETE#HK 15| 5| 20
IEXR 1 1| |EEFEEX 1 1| [ERER#BHKX 2 2
3PN 5 5| [#&EMK 2 2| [REEEKX 12| 5] 17
BEKX 3 3| | KEXFK 2 2| [EZEfEAEX 2 2
FEKX 14| 4| 18] |%ERKX 12| 5| 17| |EmEZERK 1l 1
BEXRIEKX 2 2| |[dALEX 1 11 2| [EREHX 25 5| 30
HERFEEX 1 1| |HILFX 1 U EE; PN 21| 6| 27
BEREEX 2 2| |BEMXK 2 2| [EEXK 55| 13| 68
{EM K 1 1| |BEERK 2 2| |BAF+FEEKX| 2 2
TEp.N 1 1| |FEREFK 1 1| [BREBEASK 1 1
RIGX 1 1| |[EZREX 9| 7| 16| |BARLZFK 5/ 3] 8
B2FRIX 1 1| [EXEX 8 8] [BEAX 60| 29| 89
BIEIREK 1 1 |BuiEX 31| 13| 44| |BXRABX 1 1
BERIK 1 1| |EELXFX 2 2| |>tiEFEX 2 2
FERBEEREKX 2l 1] 3] |ZHIX 26| 3| 29| |XEZERX 2 2
ZREE XX F K 1 1| | EEX 51 2| 7| [EEX 49| 16| 65
fEMIIK 1 1| |B#X 1 1] 2| |BEHK 1 1
22X 1 1| [BBFIZFX 0] 1| 11| |REX 6] 5| 11

& st a5 | 10 | 45 HEEXFK 1 1] 2| |REEEMKX 1 1

JIERE X 3 3| [HEEX 4 4

[Fh31 K] R EE K 9| 6| 15| [BAAK 42| 18| 60
FR A & BEZE| &5 [BBK 6| 4| 10| |BA;A¥BRK 17| 9| 26
BFEHKX 1 1| [(BREFX 2 2| [BHARERKX 1 1
TBRREX 1 1| |EERRIEEKX 1 1| |BAEX 2 2
TN 1 1| |[EBdb&FX 11 1] |[BAX 6 7
M REEZFK 5 1| 6] |HEEX 4 3| 7| |E#mK 44 21| 65
BipK 10 6| 16| |BIEX 2 2| [FZZEXK 6| 3| 9
XH K 14 2| 16| | KREXEX 5 5| |RfEHEX 19| 13| 32
TFEREKX 1 1| |REX 3 3| [ZzVRLZFK 1 1
HESNEE 5 5| [3RiEXR 2 2| |BEEFEEMZFK 1 1
EEX 4 4l |ENIXK 3 3| |dbREX 2 2
JIFTZEE XK 1 U L:E PN 13| 6| 19| |BHFEXK 1 1
FEIEK 12| 1] 13| |BmXK 9| 1| 10| |BHEHIEE 2 2
FEEHEK 2 2| |EEX 3| 4| 7| |EWLXK 2 2
BRiE K 1 1| |[ERREEGREKX 7 7| |IdRfEXR 3 3
TEFK 3 3 |EEREK 12 1] 13| |E&E#XK 1 1
HIRTFERK 10 3| 13| |EERERHFRX 1 1] pEEX 2 2
EHERKX 1 1| |RERZBEK 5| 1| 6] [{&K&FK 1 1
BEEK 1 1| |[ERI®X 4 4| |BREMLEFK] 1 1
MELXFK 1 1| [EERI=X 1 1 A =
eSS 18] 6| 24| [EEEEA 1] 2 = & 730 235 | 965
[EN KER(EXFE)] [Fh ST EAR ) [EM-BEFR]IBERDHA
R L% || a5 |FER4 W% BRE| A5 |ERE
[ 181 K F AR 11 1] [FUERZEX 1 1| |ERA-MA7TEY %2R 1

& &t 0 1| 1| |EB&%EEMEKXR] 1 1| |EZEAI-MA7 32—V v)EFIER 1

HAXEX 1 1| |ERBEEFEMER 1

AFEFHKREZSHRE | BRR|BRZE S5 [EERLXFREKX 1| 1| |BXRERKXKZEEEMER 1
[E /NI K= 35| 10| 45| |ZKFERXRBREKX 1 1| |2 2—XEEk 1
FAIL KR 730| 235| 965 & &t 3] 2| 5 & &t 5




